RIETE 1140
120 WHTE 900 120
35 830 35
79.5 45 45 79.5

ﬁ%wiﬁﬁ%ﬂ 7 ()
Y=y J (R8)
mER :

— it

TN BEFH SR

ChO PIIT-TE)

XEERES RT-081

AZ2A4RTS Ty b
Bt RAERMD > SR
t=1.6 W=/2

BADENS2 t=6.8 (B)
/oy ER =10 ?
R i
| Rt Y
N = 6 S 9 40 O B A 2713 t=25
‘ Vi iy 1T
firo£8 (FFHEERSE) e | . AT
7 b iR s ! = == REARAZAN-
o | FVI t=2 @FMI
KRR 80 !
. HEERELESNE
ELB @ | it — THR =2 B NI
‘ SSTH
| B Ay £4t b
™~ |
X
* P ‘ g -
) 1 8 |l—t .
— Bl REHD o SR | [T N Y
oy Y g t:w.g 7 | \f\\\\\\‘\/l/\ (::)\/ @ @ \*\\
_ AR 5 82%6 s 3p 438 || 1151 |
= KRR 89 i !
- KAAAJf@Emw& | oo \ AR A,
i ] Ny 200 W=30 | TR =2 @I ii o) N TR t=2 B ML
7003 R < | T B 2 g -
e ;;j% e @LE‘° N TN t=2 BONT
U= ud (Rlg) jﬁ& ‘ };
3.4 % ‘ b b Sy
o HIEn N — (BfE t=0 & B \ BtV
o 3 NS TREVE LT = [ 223 1225
0 Rk ° iy i T
""" 2 SOPEE TP °
M
| [° REFPUN- ; °
! \ o (BPUh-IBE U S EEEE) !
| | o~ | |
80| | ’ 7 n- BE:
EHEILII (F8)
£8 (Ri2)
WAL -2 (BB
50 ftEEOTE 840 50
100 150 FHEOTE 940 150 100
/ :X\\\ \\——————ﬁiﬂ(ﬂﬁ) \
B8 (3138)
795-7-327 96
>< AYF=047- 1.8¢
s
ARb-F-A
TEER 3l FIRER 54N RE-INYF SHGL—90x R EEE A e = FRB =mrEorsTyonREt
% 7 Iy oM i - P
WhEME R A -
al 1 " = " A - DT b "N - o] 2
Rl 9 T T 5t A T Tttt H e e




